.S

[ =g @ 680 034 |

8 Cotm Beooe e¢udine®=nd
g.68).6. ().688) Swxwas - 2022 (2023)

80 - @mﬁéqéz ) e8eben MBS

g 200 o8l

L

o0 0

08a crindog clmnddmied gealdna o cnd enlSd.
meQMWMﬂMWM

oo aeadln quIcT B g P g

T —
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3 Paper I answers

8 coms Bosn eqoitine®und
Aeorest uflmey Hoenbseand

G TG, (GNEOE) UWIDW = LULs (2U23)

&.QuIT.5. ag;ﬂmﬂﬂ By ufiens - 2022 (2023)

Besx gomo
ur. @eadsn | 80 orws | Information and Communication fechnology
I sgn - 88née
I ugdimb - elenLamsir
gk | BEned® | pem | BEqedB | pum | BEqecB | puw | BBmedd
s s Gozdd Qo3 Qo gota) ot oo
alar | alent. @ev. | ellarr | aflenr. @ev. | allewr | aienl. B, | elenr | sl B,
s“' a”- M‘ a”'
ol' onno} ------ 3 n' nun-4»».m. 21. SanTB e al % .-...2;." =
: oz’ ounﬁ-mnu l‘z' QMDOO&OO“.D u’ mjuu 32. ﬂﬂ‘"?m’
4 ’
“‘ sssssnessiseseet l" uomo-.gnon ”‘ sesassavessacas u’ cacsvrseriesenss
“' nmsomnu l" oom"nB'unu u’ .omooio“ “' L il
.s' u»vngoo:o:« “' nnon-lum. 3“ n._o'j.;nu ”' oooooo é -----
08. nn»."o4nn--- 16. -mnn-zun-u 26. nuonn%o"mc 36. »«ung““
.1' umwgmuw l" srussssvevensese z" noo-nu4mo-u "‘ eevsesrcescosare
oa’ n-».-n]:nnu l" Dltovoll.-l..n ”' -uun-Zn-n ”' buuouﬂu-u-
3
oo' -At»n“A.nn l” eveesesetsensnss z" esesssssrrenced "' vesssessecssnie
l.' m»oiuu a‘ LYVITINS é'u..n ”' Nb"’b‘.’!’o.l! 4.' -...---43......
Sede coerd | ol Bnia0 one Towd
i0n. ofeppsed | o0 sfurel doLie yeirefl - algpid
80 ca@ / Gurppd ysielsss 01 X 40 = 40

08 e anbdes cumdoped qdeom BAcO caH qipes wosim. A . .
:\zm %Kuq%b&@bmﬁgﬁfzm seow LAGETe Mandagpbeiy yiciamm LedBH)e eSem (nybiBySBe

BNGE BEqdT 0O 25 loged @0 CRE 25
mﬁ. sdmLsalial QpTens 40 updyb [ @er Qungmineief 10
J
o GRED DE ¥ad g 17
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4 Paper II mark scheme

81.493.

1. BE€nom cng ©5¢w y@rwdxs Dan® 8¢ ud=3 98 gig 1.

2. aseleart ssewn Bt me 98 (/) 08 23 s

3. «-- A 98> qm'ozn’ezs)’ 20€ 385000 cRG 8v vmles, A 908 O vd ks 08

4. 50 gfuc Bznme 0gdu exnucHm BERG 2@ m6 grm. §o §ifed domme eduws vxn cod® egy
O gfudws 080 ewd RO evd #iB gED: ewd 168 D gOHNE.

5. 040» ya» syed cne 5988 (rounding off), gD CNHOC OBYOD vO&N HE YRS

1. () Write down two other pieces of information that should be stored fora patient’s 2]
appointment.
020 e 1 B! ‘ IX2 = 2
T
@00 / e véesw / ™ / mcdedin
6B 2 anb v —9@3262_ 7>
:{vch 2.:05&\)‘;3} APet c,.i'éacs
Qs 2
(ii) (a) [Write down the label of the port to connect a projector with a VGA cable | [1]
A
(b) [ Write down the label of the port to connect a USB flash drive. | (1]
D

* ocdaced glud erdew (capital/simple) eznwcmziz.

(1]

(iii) (a) [Convert 6310 to its octal equivalent. |

] |63

&l e 7 T
e ]

77

18
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Bt900 64820 PY P
(b) [ Convert 63) to its hexadecimal equivalent. | 1]
16' 63
i R g,
.LUL-) . TS T LN >r

0- 3 >3

o~ ! o
QZ(J%' 2z 3es™ 'ﬁ@f’f"”

* Fedaced gales e¥en exnucostis. e ™
* Bagws B8O gm10@s 6216D.
* O goa ozned.

(iv) (a) | Out of AND and OR gates, what is A? | (1]

OR

(b) [Write down the boolean expression for C. | N (1]
v edn S8 Onal:
C=XY
C=XY
XY
XY

C= qm D
(v) [ Write down the replacements for LILIII and IV choosing from the list. | [2]

om0 R 0.5 7 8T: oS Rt?“‘} S D

B e A5 2hmb Repect

Ili' WP C&vm’o No wowlcS

Iye 00 2 62\ O &%

V Ci8650D ca & 1B Oon® ¢ wewsd 6 @B 06 05 PO B 188D - CR B/
0
* gted edew e and gnd B ETNBCHBID.

19
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3I5510% ©¢8ne05I50
=)
(vi) Write down the labels of the formatting options that have been used for the 9
sentence formatting. L ]

dm»d cnea 0.5 8.
P Q R S

R ¥V 05060 018 eCAE Ewr 1B 80 - cmen 0
* gfed etd¢n emneEHsID.

B88umu B dmewsT:

1 253016§8 3822 %128

2 anaOc yeww(font size) O18 B8O (Buwc BBO), meww ©z¥d® (bold), a1c B8
(italic), 327 9oz 4:2® (underline) 428 eces DOmews? 8OO

(vii) (a) Write down the label of the slide layout that can be used to contain title, 1]
some text bullets and an image.

C

* Coelaced gufud eviw emucmsin.

(b) Write down one good characteristic w.r.t.the maximum number of text lines [1]
that should be placed on a slide.
60m e gr 88O 2w 8 V& 5-9 ¢nd Bw gnw. 0 Q?
v -G08
B88wmwB SmFuwrsT: b7 c\;&g
5,6,7,% }

5/6/7/8/9 ownd gwm 8613w BE OO & voesw:

NOTE: In the text book, the maximum number of text lines on a slide is recommended
to be within the range 6-9. However, 5 is also accepted in some references.

(viii) [ Write down the replacements for P and Q of the flowchart. | [2]

om0 Cn € 1 7 E:
P=0 Q=5
* P ow Q odacde gnfud ofew oonecmzis.

88w B 8mFuwsy:

Oand5/0es0 5 »
0,5
0,§

20
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Bin® @¢dnedzIR0 cwBond
(ix) Why is it illllporta-ilt tu get clear/exact customer requirements before leaving the [2]
first step of the waterfall model?

o ;18 pmaBlod§, Sco Buds 4160k B8O oud v Buddn wdybe »c yned. edece
vqdBed w08dn WOYR 60y BB ud DN Ve MBS BdOuSGH BC ¥red.

deed @znf

Do, amDas vddBws 305w Be® §D0m® wy vud dw edne BB

gl S 180 8¢dnm a».

sun le

02 ED:8%Y Bz ® d®O Cyey 27

¢+ 8o ;18 pmaBed?, 8co Bubdd 4160w B8O eus on Budds sdybe mc |nw /
BB pmaBed? wddBs vddBe gdws ¢8uel udms vdu HBOD W BWD
108®

o D162 4D@uD Y6 RO v8ddBe O BBO 9o 8¢ ¢dm 8O

(x) [ Draw the expected output of the given HTML code fragment. | (2]
_ \( : 208 @I ¢

682 is a markup language oo T

65 $Z0R —=Java > G -

Seshe isa programming language  J A7

—-8SQL | } \ by 7‘369
TAVA cap! o) is a query language
é&nwfo Blo woalcs
v gy8s? e eTD.

A:vef

@oc o -ca% 1

B: 620 gocs - e 1 (¢-- A)

v gxnedemae (indentation) gondes @.
% THTML", ““Java" oo ~"SQL" 16, @B8 5wdE o 286 @3B ETNLECHDTID).
/\’_/‘

80 - emi6noy W wIHedbim B

e - CRG 2e® vdds / g.om.0.(m.0n) Bwmma - 2022(2023) / seenidn raed ¢ 9d §iv 21
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D010 ©¢wdne0sIRHD
==004
2. (i) [ Write down a formula for N3 to display the 12-year increase for Australia. | [2)
= M3 - B3

¥V onis 882 enadnls Ba g,
* guled o emnucHBIS.

% + M3 -B3 ¢ 88u» w.

% = SUM(MS3, -B3) ¢ BE€w» w.

ewnch kB BrR 6, @9y ©

(ii) | Write down the formula that will be in cell N12. | (2]

= M12 - B12

vV oxmde 88x wede e gra.

* gfeds ewiw eneCDETH.
* oo (i) wew Guswed BExs =SUM(M3, -B3) »® =SUM(M12, -B12) ¢ 8&o» wvum.

Em By 4Ha <0 G g,

(iii) (a) [ Write down the formula required in cell 015 to display the lowest increase value. | [1]

=MIN(03:014)

(b) [ Write down the formula required in cell 016 to display the highest increase value. | [1]

=MAX(03:014)

vV omie 88» weds 8o gnw.
* gulud ord¢w exnecHEID.

() $ Brthe, K2
e B B phon ahean 4

22

80 - e2:0001 1) exfBebsm HY G - CRE §2@ 832106 / g.om.6.(:.08) Do - 2022(2023) / srealdm aRes DE 920 G
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(iv) | Write down the correct formuia that needs to be entered in cell P3 for correct copying. | [2]

= (03/0$16)*100
ewd

= (03/$0816)*100

* guled ebew emnecmsIn.

v) From line and pie charts, which is more suitable to compare the changes [2]
of solar power generation of those countries during 2010-2021? Justify answer.

@58 yedcad / line

DHNEBDEGe: B BBoeD OmO e B0 ne 00 8O vousics B
8382 08 yedncB. dun e e wensTimn A8 gy OO yedas8.

sun 338zt cng egTm.

A: 083) yeds - e |
B: 006 &mdmn (vun .87 Om)- cmeg 1

¢ 2eED® BBvwn OB i 80 ne -
—  oDmid B® wowsiems HBOD ety @85 y¥Ns8./ ¢an HOOC BB eesIEHD
ABOD 368y @81 yeIac8.

o 03 050 DHEOD D EBHEEO g5ty @8 HedIoa.
o 00uSnWD e tewsTins BB gty OO yeIGdB.
o DO ye3Hs BHuwO #1800 8559

£30WB).

008 313890 v BBvws gp (600¢F 12 = wewo B 120 ). OBy @8 yeIced
98m 0wz} 600 12 0 gec Des 12 8 0 goem0® o=@ ytded od 12 = ybana
me mBs. HYs, 600a 12 0 gerc Bud 12 8 Bug® gows’ yedemns B8O Ot A OO
ye8dwt 48w oW D.

0998 ydme 88 "2010-2021 mcw ne @O OO @ AceB cFveme’’ o
80w A0 wemstm. omed edn, dv O dodn cOd ;> gwm C4 ydmnes HO
(e¢: ®3e)Bwid e gfdg 12 goosy), 880 DO yeddadw Dl yge @O.

80 G261 ©3 e Eedm e e - CRG 808 vdmda/ g.ev.0.(.08) Bmoa - 2022(2023) / aceaddm graes nE 920 Hi12 23
-eom
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3. (i) (a) [ Write down the primary key of the Borrowed _Items table. | 2]

ItemID + StudentID + BorrowedDateTime

vV Budn gled Smmus gdanebd.
vV 40nd Heovy Ew :iiin® N

* U+ 0000 and" ewd ew" ovd BEon vim.
* gfec eude (case) ew @b (space) @4I® eBNBCHBID.

2

(b) [ Write down the foreign key(s) of the Borrowed__Items table. | (2]

om0 Ceq 1 8

ItemID
StudentID

¥V Bud» gfuc Sxnnwe gdaned.

V gOnm0 Sevy Sw yi¥n® cregm nb.

* gqfed eude (case) ww 9B (space) e¢dv eznLCHBID.

- Which tables need to be updated when the school decides to [1]
(") (a) allow students to borrow Tennis rackets?

Item

v Bed» gted Bmes gdaned.
v ¢®506 D@ Bwr 1I®® Cr B -
* oxfed ew¢ (case) ww v (space) @¢fs exnacmzTm.

Tdewm dable dable eg’ll“).ﬁL‘Dcé{‘\ 2nd A

Which tablcs nced to be updated when Shane borrows a Tennis racket on 1]
(b) 20/04/20237

Borrowed__Items

VY Budn griud Bonnunsd 8O0 =8 @6 (underscore) gdaued.
Amm—————
Y 52adapEc g CRGS

* amlud eue (case) ww @B (S ace) @¢fv ezNBEHTID.

80 - e21676; 3 vxiBebin ek - CRE 200 138230 / §.00.6.(.00) Bimow - 2022(2023)/ eecaidn graes DE 900 oD 24
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m——

Raj (5150) joins school (for Grade 10) and is selected for Cricket team on 25/64/2023.
(i) | He borrows a cricket bat (005) on the same day at 14:00:05 hrs. (2]
Write down the new records to be added.

OO cWeq 1 87!

Student — (S150, Raj, 10) Qk{ X | 2 »
Borrowed_Items — (005, S150, 25/04/2023 14:00:05) AJULL Q=@ - @GP &7

' /‘\ @@ . HD
V Budn gfud dxmsesw gdaued. HR
V 956 Dg/edemdd 8w 195® Cryeg sud. 6¢c”°’)

* gfed et (case) e @b (space) e¢ly ENBEHBID.
* D9ed8 gm6wd edendd Buw Ed® ¢ BEws wiBe.

(iv) Which tables need to be joined to find the names of students who borrowed sports items 2]
on 05/04/2023? The type of item borrowed must also be shown.

Borrowed_ Items
Item
student

V CReg 2 wem 8ag 0@ gdased. i "
M.
* 630 gfuc Dome ogde emnwcHsIm. B ”H"Q,L”") Ab3IND 292 e

* guc eue (case) ew @b (space) I8 EXNBCHBID.

B88wnwB dmuws:

8uog 09 O

50 omadnd o oifebem mrele e - CR e 400 00600 .06, (.00) Doxon - 0220023)/ wreaidn qaeH D€ 530 2 2
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Write down the most suitable transportation modes (bus, van or bicycle) for Sithara,
Ganesh, Saleem and Nimal. (2]

4. (i)

om0 Cn| 0.5 8.

RRoonGr 1 Aes

ooty : el

80 : @ Ot /O
AOGE . A88»¢E

* gmtec ows (case) ww g gus B @¢dy eNBCHTID.

Write a pseudocode to input the required data for a student (total distance [TD],
(ii) | distance to bus stop [D], monthly van fare [VF] and monthly bus fare [BF]) (8]
and to output the suitable transport mode for him/her.

ALTERNATIVE 1:

BEGIN
INPUT TD, D, VF, BF
IF TD <= 5 THEN
DISPLAY "bicycle"
ELSE :
IF TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF

ELSE
IF VF < 2*BF THEN

DISPLAY "school van"
ELSE
DISPLAY "bus"
ENDIF
ENDIF
ENDIF
END

——]

80 - @2:676; 1y BR D ITYGS - CRG §ed vdmda / g.om.o.(.08) Bvos - 2022(2023) / voaldn ared DE R0 Hi2 26

> |
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Cw8ontd

ALTERNATIVE 2:
BEGIN
INPUT TD, D, VF, BF
IF D g= 5 THEN
DISPLAY “bicycle”
ENDIF
IF 5 < TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ENDIF
IF TD > 15 THEN
IF VF < 2*BF THEN
DISPLAY "school van"
ELSE "
DISPLAY "bus"
ENDIF
ENDIF
'END
ALTERNATIVE 3:
N -
> BEGIN \ '~ A Balw/eud
Sors INPUT TD, D, VF, BF simple T @™ =
28" | ~B Tupu-arbe o
> IF TD <= 5 THEN (G :
d(’ﬁp DISPLAY “bicycle” cow&wHw)l
. ENDIF D f woetm D
’ 0?0 ouJ—P“’L
| IF gpa\ 50 ;—-: 15) and (D < 1) THEN E gt
6 | D ” US" 3
2r#8F ENDIF 3
2% BF G
H0>  IF (5 < TD <= 15) and (D >= 1) THEN
2 (BF ) goxm'v% DISPLAY "school van" H - A& i;g)
28 F ENDIF ’l@k\“a&,
\ €. P @fbcx\}) S
= IF (TD > 15) and (VF < 2*BF) THEN %4
DISPLAY "school van" SATE 5DON
ENDIF rj\.v\cl&'\‘\“of\“h‘v) oQQ/LLﬂ:)
- :)21/ IF (TD > 15) and (VF >= 2*BF) THEN TREN 770bud 0o
Z DISPLAY NbUSll
ENDIF
ol R END
80 - emrSRdy © oxifebim mrfesko - cna éed vde:8a/ q.am.u.(w.ou) Buoae - 2022(2023) / eseenidm» sines mE 9rod g 27
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ALTERNATIVE 4:

BEGIN
INPUT TD, D, VF, BF
IF (TD <= 5) THEN
riode = ‘Blcycle
ELSE IF (TD <= 15) THEN
IF (D < 1) THEN

Mode = "Bus"
ELSE
Mode = "School van"
- ENDIF

‘ELSE
IF (VF < 2*BF) THEN
Mode = "School van"
ELSE
Mode = "Bus"
ENDIF
ENDIF
ENDIF
DISPLAY Mode
END

s 3uds? C@ oED.
A: BEGIN/END - ey 1
B: input TD, D, VF, BF - e 1
C:If TD < 5 then display “‘bicycle" - ca4g 1
D: If 5 < TD < 15 and D < 1 then display ""bus" - cyeg 1
E:If5 < TD < 15 and D > 1 then display "'school van" - czy«q 1
F: If TD > 15 and VF < 2*BF then display “'school van" - czp<g 1
G: If TD > 15 and VF > 2*BF then display ""bus" - cyeq 1
H: e8ybeemd: - cag 1 (¢«-- A 80 G B68 88)
. A8 axmedeme (Indentation)
. ccess ENDIF
« mziz (strings) quotes ng 8O
o THEN ©8me

* B8unmwB sdwiw vg:

» BEGIN: Start

« INPUT: Read, Get, Take, Obtain

« DISPLAY: Output, Show

o END: Stop

9D B0 w&i BovE vig BE0D vi®.

* guled oqe emnecmEID.
* ¢ gfuc Bsaes @4dw E2NBCHBID.

30 - 02:606; ™ vriBebsn BV G - QG §od vdeada / g.00.0.(.08) Bwno - 2022(2023) / s.0aidn frRes DE Y7L HD 28
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5 1 1 3 x T3 O] = TR - 7 7y
9. (i) | Match the descriptions iabelied P - S with the correct terms from the iist. |

(ii)

—-
N
——

OO Cey 0.5 9 3=7:

P — HTTP

Q —» URL

R — [P 88»mw / 1P address
S — SMTP

* gud e¢n enucmEID.
v

Label S

items A to G.

Choosing from the list, write down the correct example suitable for each of the labelled 2]

A — 088 eyed/ WordPress
B — lk/lk

C = owu¥emded [Firefox
D — qog /Google

E — 9808 /Twitter

F — IaaS

G — PHP

s fedn 888 cra 885»0xTn.

wu® BD108 50 - e 2
v B8 0O - e 1.5
4 -5 B068 50 - cyeq |
2 -3 80168 50 - e 0.5

L md @9y m»-
* gfes ofew ernecmBID.

Label €,

sl 69D

80 - em:6n06 02

osifiebin G - cn| {0 230w/ g.0v:

».0.(e2.08) Do - 2022(2023) / sceaddn qres BE 9ad i 29
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Write down label number and the corresponding HTML tag which is to be chosen (6]
from the list.

(iii)

0220 g 0.5 A 8T:
1 -head -~
Z-hl ~
3-p «

4 -h2

5 -ul *

6 -li *

7 -table _~

8 -tr »

9 -th

10 -td

11 -rowspan

12 -a /
* guied ef¢w emncHBIH.

< > BHy G0N

80 - 021620 1 BitHeb DY GG - CRG 408 835:0a / §.00:.0.(t.06) Bmoa - 2022(2023) / seecidn naes BE @nd a»
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6. (i) Explain the reason why vector files are more suitable than raster files to store
: images like institution logos that frequently need resizing. (3]

G308 @8 Bfud 0857 <& gi». @@ gpd O® @8 Bedvewrs’ Bwc mox» 8O,
Bites@ 9Bmw 02988 »08 B yoldanwn? goh 88ed. dx08 1Bm Bufed
985 S8, B0 G Omm 8NDS s Wdnewst V&EBHOW Wdnd, waf ev!

025 @53 OO Omn De®sY BEDrmn 06 a1o. 8827 gqud D705t QwInOmWIDL 508
ez»d Bxins Bmne (ovd nih) »€ 0B AD8. e®ect Bnd Yy irwmw edn BB gdas

0 Ba¥n)S esemn 0008 cwiy D& 35y @O.
son qEedn 888 cng 88»0xIn.

é:‘gyg)& @82 850 0823 ;@ g1 - CWG |
B: 608 g:8maxst dmg e 89, Bfuc §@ 82 ¢ goBms o928 00 - caH |
C: 00808 9:8mws 0 &hnds wdmdw | @88 / O &0 Ordedz) BEDrkmw BJ @B Beso

00 000D yB ezned s CaA |

(ii) (a) Explain how you would use the interface options selecting from those labeled A-F 2]
to remove the two silent portions at the beginning and the end of song.

D 82 26, 8 0B @ ezmdL e5Id @W@J

sun Eeds 888 cra 88»0xI5. i B sshhiy S
A: B3 0B ¢ 6206 endc MB® - Qg | g D QV)%’) 5
B: E S8 580 - cmeg | (¢-- A) 2 »co CF

v A, D esw E 916 0055 g@56 0CacE 8w B0d 50, goe CRes Ca 05»e¢sI.
VvV 8E8nd e¢wi D esw E 888 vdms y@redsf 206D,

* oCACOC gfus owWiw esneCEHBIS.

% D o» E oFacde g8 180 ¢ 88on viBw.

b Write down the label of the interface option that you will use to play your [1]
(b) modified file.

B

% Becaced gBnmnas 4180 ¢ BEun» vifa.

31
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What is the importance of the timeline stage in the Windows Movie-maker
(m) (a) interface? [1]
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(b) [ List three features that you could add to your video through the software. | (3]
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» 8 / Gy / images
o 0 (amazm, A BEG) / text (titles, credits)
o 30202774 / transitions
e g%z / narrations
o :Bnwst / gO» evzy / 01 8y / music / audio files / audio clips
o ¢awxs Geemduzmy® / visual effects
+ BBoewd ooz / BBewd 8ycy / video files / video clips [B€w» w.]
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7. (i) [ Match descriptions labelicd A-D with the correct terms from the Lst. | (2]

om0 CRg 0.5 8z

A—8
B—4
C—-5
D—3
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Do you agree to discard Sunil’s computer and buy a new one as the existing computer [ 4]
has become slow? Explain.

(ii)

BEw» v odndis 050080 88nwmmw 9bn 80 mhdBws O qm& O Beys gegdBOCO
¢ O 0. 882 orn B vBowmmw Oz3(® b7 g1». IO ewiws JDO 88w® ewin

gne.

vun geds vB caw BEnoss.

A:onp - CRG 2
B: ©27¢08 880 e¥n 1> - | 1
C: 000 ounsd et A $00 BEw® ocwidw gne.- cRe 1

8¢ BEnS vwn 888 »iB 8nsim.
V5166 D0 wd 88omme 00 8 §86; 2O v B PV LR /BB &he grw."

OB BE56»0, B &3 C wewn Cryeg | 91827 8¢ g 2 = o,

i) Write down one method to avoid plagiarism when reproducing information 2]
(it from the Internet.
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(iv) [ What is meant by ‘becoming the master’ and ‘becoming the servant’ in this statement? | {2]
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